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 x + 11      2x + 1   

--------- = ---------     

  x + 3        x + 5 
 

 x + 11      2x + 1   
--------- = ---------    x ≠ - 5, - 3 sonst wird entweder der Nenner von    

  x + 3        x + 5 
 

    x + 11                      2x + 1   
  ---------- oder der von --------- gleich 0. 

     x + 3                        x + 5      
 

Hauptnenner (x + 3)(x + 5) 
 

     x + 11      2x + 1   
    --------- = --------- | *(x + 3)(x + 5)       

      x + 3        x + 5 

 
     (x + 11)(x + 5) = (2x + 1)(x + 3) 

 
     x² + 5x + 11x + 55 = 2x² + 6x + x + 3 

 
    x² + 16x + 55 = 2x² + 7x + 3 | -x² 

 
            16x + 55 = x² + 7x + 3 | -16x 

 
                      55 = x² - 9x + 3 | -55 

 
x² - 9x - 52 = 0  

 
p, q - Formel 

 

p = -9 ; q = -52 
 

         -(-9) 
x1,2 = ------ ±  

            2 
 

x1,2 = 4,5 ± 5225,20 +   

 

x1,2 = 4,5 ± 25,72     

 

x1,2 = 4,5 ± 8,5 
 

x1 = 4,5 - 8,5 = - 4 
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x2 = 4,5 + 8,5 = 13 

 
 
 


